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Uil 75 B B

& B REE

17 B HMEREEXEHE
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BEoMs IEE
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SHBEERNRE SH5EE BB G AR )P R IRCGH) (B B)REB T E(EIR)

£ b 3R - MR IR B3 % = B & # =
EETSEE 109, 845, 352
BrigiR ) (R B) 109, 845, 352
HEET 109, 845, 352
EREaT 109, 845, 352
HiEen 109, 845, 352
1-1 Ei#Er #A5~100kg/EIEE (X% A) 7,324.00 14,998 109, 845, 352

m3
HEBEREE FEL 142,000
HERE 142,000
HiEEE 142,000
HirER 142,000
1-2 HfiEEE BRETMAT., T4 U REEIIRE 1.00 142, 000 142, 000
%

EiZHEE 1,599, 291
RS XK 1,599, 291
TILFE—LAE 1,599, 291
TILFE—LAE 1,559, 291
RS EEE 353, 765




SHBEAREK S EE R REQL R RIZGIR R ER T EEIR)
% g R - KT & B B = B Ol & ] HE

2-1 Bl=%M% 1.00 169, 074 169, 074

=
2-2 HMHER (11ERESZY) 1.00 184, 691 184, 691

=
KigH= 632, 320
2-3 BETARE 1.00 623,119 623,119

=
2-4 TILFE—LBE 0.01 920, 116 9, 201

km2

BER 573, 206
2-5 ART—HEE 1.00 573, 206 573, 206

=
EEEE 40, 000
BE 40, 000
2-6 EBHER 1.00 40, 000 40, 000

=
B R 256, 006
FEE 256, 006
TILFE—LALE 256, 006
EEANGE 248, 550
BE 248, 550
3-1 3RFTERETT—2 BB 1.00 248, 550 248, 550




BHBEERNRE

A FN54E B 2 R (3L it R B SRR Grh (2K B BB T /(553 0)
% 5 s - FodktiE Hfr H 2 B & & % wE
EEZE 7, 456
R 7,456
-2 EHERRE 1.00 7,456 7,456
=




BHRERER SRS A ML BN IO (B B ER TH(EIR)

% g - AKSTiE Bifr B 2 B i & 8 W =
EREIEE 109, 845, 352
MEIEE 7,754,282 + 27,753,513 35,507, 795
HadfREE GH 142,000 + 6,942,226 + 670, 056 7,754,282
HBRBE (FEL) 142, 000
HBERER (R) 109, 845,352 x 6.32% ((4.70% x1.00 +1.50% x 1.02) 6,942, 226
BSRERER 109, 845,352 x 0.61% 670, 056
Rogng 117,599,634 x 23.60% ((21.68% +1.23%) x 1.03) 217,753,513
T=Rfl 109, 845, 352 + 35,507, 795 145, 353, 147
—REEES 145,353,147 x 16.29% (16.29% x 1.00) — 9,315 23,668, 712
LR E 145,353,147 x 0.04% 58, 141
THilts 145,353, 147 + 23,668, 712 + 58, 141 169, 080, 000
EENEE 1,599, 291
ERE 1,599,291 x 80.5% — 6,720 1,280, 709
AEEEE 1,599,291 + 1,280,709 2,880, 000
BB E TS 2,880, 000
BRI 248,550 + 7,456 256, 006




BHRERER SRS A ML BN IO (B B ER TH(EIR)

£ g R - KSR B 2 B i & B W =
BEEAGE 248, 550
EERE 7, 456
Z O fth S f 248,550 x 53.85% ( 35% =+ (1 — 35%) ) 133,844
BRI 256,006 + 133, 844 389, 850
—REEES 389,850 x 53.85% ( 35% <+ (1 — 35%) ) — 9,784 200, 150
KBS 389,850 + 200, 150 590, 000
B EHEAE 169, 080, 000 + 2,880,000 + 590, 000 172, 550, 000
HEREELE 172,550,000 x 10.00% 17, 255, 000
FEIZRE 189, 805, 000
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BHI5F FE 2 BB G RO RIZ()(R R)ER TH(EIR)

&5 :1-1
L BEEE #A5~100ke/EFRE GE®R) 1000m 34y
2 b g - BIRTE BT H = B O ® # " =
R #A5~100kg/AIEE (k% R)
m3 1, 300. 00 11, 300. 00 14, 690, 000
Bkt D 270PSE! 3~5tH
B 1.07 218, 359. 00 233, 644 8H
MR =LY
% 0.50 14,923, 644. 00 74,618
& B YEZERES : 1,000.00m 3 14, 998. 00 14,998, 262
&5 :1-2
& HTEEREE FREBIRRE. T2V OJREBIIRE 1LY
2 b g - BIRTE BT H = B O ® # " =
HitEEE E-ARYUTRE
I 1.00 42,000. 00 42,000
HitEEE HREINAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 142, 000. 00 142, 000
&5 :2-1
&% BIEER 1LY
2 b g - BIRTE = v = B Ol ® 5 # " =
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 0.50 32, 200. 00 16, 100
MR =LY
% 1.00 167, 400. 00 1,674
& B 1E%HeH 1,00 169, 074.00 169, 074




Rifiz -/ \v7r—o

BHI5F FE 2 BB G RO RIZ()(R R)ER TH(EIR)

&5 :2-2
£ BAMEROEESY) 1LY
2 b g - BIRTE L= vd = B oO(f %8 W = " =
BIEWHEE
A 1.00 217,000. 00 217,000
FSvy 2tiE
B 1.00 31, 283. 00 31,283/4.70H / 8H
Jx)—EE 5~6mEKiG
= 1.00 124, 580. 00 124, 580
MR =LY
% 1.00 182, 863. 00 1,828
& B 1E%HeH - 1.00K 184, 691.00 184, 691
&5 :2-3
B BETX 1%y
2 b g - BIRTE L= vd = B oO(f %8 W = " =
REE S4 kY 2L
B 1.00 3,372.00 3,372/2.00H / 8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.50 34, 300. 00 51,450
BEBF
A 1.00 32, 200. 00 32,200
BIEf FRP D 70PSZE!
B 1.00 49, 103. 00 49,103 8H
GNSS;BIfI & DGNSS
B 1.00 25,575. 00 25,575
TILFE—LBERZEE 36~455kHz
B 1.00 338, 250. 00 338, 250
MR =LY
% 1.00 616, 950. 00 6, 169
& B 1E%HeH 1,00 623, 119. 00 623, 119
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BHI5F FE 2 BB G RO RIZ()(R R)ER TH(EIR)

BE 24
Z TILFE—LAE 1BEY (0.78km?2)
2 b g - BIRTE BT H = B O ® W = " =
REE S4 kY 2L
B 1.00 3,372.00 3,372/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 57,718.00 57, 718 8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 0.50 32, 200. 00 16, 100
GNSS;BIfI & DGNSS
B 1.00 31, 775. 00 31,775
TILFE—LBERZEH 36~455kHz
B 1.00 420, 250. 00 420, 250
MR =LY
% 2.00 658, 515. 00 13,170
& B EEREN 0. 73km2 920, 116. 00 671, 685
&S :2-5
B RFET— 2 EE 1LY
2 b g - BIRTE BT o = B Ol ® 5 W = " =
BIEFEHEM
A 3.10 51, 000. 00 158, 100
RIS HER
A 4.10 44,000. 00 180, 400
Bl S H A
A 6. 20 34, 300. 00 212, 660
MR =LY
% 4.00 551, 160. 00 22,046
& B 1E%HeH 1,00 573, 206. 00 573, 206
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BHI5F FE 2 BB G RO RIZ()(R R)ER TH(EIR)

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE L= vd = B oO(f %8 # " =
EBHRERERE
= 1.00 40, 000. 00 40, 000
& Hi 1E%HeH - 1.00K 40, 000. 00 40, 000
&5 : 3-1
ZFF : SRFT/ET T —FERK s Ep
2 b g - BIRTE L= vd = B oO(f %8 # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi 1E%HED - 1. 005EER 248, 550. 00 248, 550
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE = v = BHO(f %8 # " =
EXRARE
= 1.00 7, 456. 00 7, 456
& Hi 1YE%HeH - 1.00K 7, 456. 00 7, 456




